





LOS ANGELES COUNTY
DEPARTMENT OF PUBLIC WORKS

El ACCEPTED

00 MAKE CORRECTIONS NOTED
3 REVISE CALCULATIONS

1 REJECTED

REVIEW IS PERFORMED BY THE DEPARTMENT TO ENSURE
THE CONTRACTOR'S GENERAL CONFORMANCE WITH THE
DESIGN CONCEPT OF THE PROJECT AND GENERAL COM-
PLIANCE WITH THE SPECIFICATIONS. THE CONTRACTOR
1S SOLELY RESPONSIBLE FOR THE CORRECTNESS OF
DIMENSIONS, PROPER CONSTRUCTION AND iINSTALLA-
TION METHODS, AND FOR FULFILLING ALL CONTRACTUAL
REQUIREMENTS. ACCEPTANCE INDICATED HEREON
DOES,P‘(QTMVEHEWWG(W'MESEW

gy__Steven Dickson pate 07-28-16




4 | 3 ¥ 2 | 1
NOTE:
-Top Support Bracket Required When S = 3'-0"
Ex. Catch Basin Wall
2" x 3"x 7/8" 11GA Tab
i 1
. 7/8" x 3" x 7/8" 11GA
3/8" x 3" ~_| /12" (Typ.) A
Wedge Anchor\]}\ T 5/16" x 1" Hex Bolt, Horizontal 1 1/4" x 1/2" x 1/2"
(ye) | CIIIOETIO—-  Washer, And Lock Nut 12GA U-Channel Stiffener

; B . (Typ.) ;

| 2" (Typ.) {\j:_:_'i_"_i' e st s o ||

| | \ T Spot Welded

' ' 12GA U-Channel (Typ.)

\14GA 5mm
ELEVATION VIEW AN— Perforated
N.T.S. Screen 50%
Open
Ex. Catch
Basin Wal 11/4" x 1/2" x 1/2" o _
, 12GA U-Channel 3/8" Dia. Opening
‘ LOS ANGELES COUNTY
e 1 " DEPARTMENT OF PUBLIC WORKS

i ] A’ _ £ MAKE CORRECTIONS NOTED

' —r— | ESEEXIESCETED TIONS

e b [ (N

1 [ i v ——————— — i RIS ACCE TANGE  NOKATED ' NEREON

[ | \ LAl DOES NOT RELIEVE THE CONTRAGTOR OF THESE 0BLI-

} ; 3/8" x 1 1/2" Slot gv__Steven Dickson paTE07-28-16

i | ’

| ! 10" (Typ.) |

DETAIL B (SH. 1)
N.T.S. ADS FLEXSTORM
CPS U EXT
TOP SUPPORT BRACKET
DETAIL
7/25/2016 A
[

4 | 3 S 2 l 1




4 | 3 74 2 l 1
14GA 5mm A
Perforated Screen
50% Open _I
5 AN AN
3/16" Self Drilling Screw "x2"x 12" 14GA 5mm
(Typ.) 4 Min. Per Bracket Perforated Base
J Support Bracket
Ex. Catch
-] Basin Floor\
Z 2" (Typ.)
2" x 2" x 12" For Detail C
cf b 2" x 2" x 3" For Detail D 14GA 5mm
14GA 5mm
Perfi
__J DETAIL C (SH. 1) DEPARTVENT OF PUBLIC WORKS Perforated Base 58%0352?, Screen
A N.T.S. £l MAKE CORRECTIONS NOTED Support Bracket .
3 REVISE CALCULATIONS 1" Mln
] REJECTED
e LR P oI e (Typ.)
PliGe o e rEccanons T covmicion | 3/16" Sellf Drilling Screw (Typ.) —
IMENSIONS, PROPER CONSTRUCTION AND INSTALLA- 4 Min. For 12" Brack
P ?,Qg&gggﬁéﬁ%i@g‘;mc{““ﬁﬁm% 2 I\Illnin I(-zgr 3" B::skg: Horizontal
%#@TMT&EWWORGWW . h ; "
14GA 5 gy__Steven Dickson pate 07-28-16 ::;éi\ 61C/% X 1/12
mm -Channe
50% Open —l (Typ.) 2 Min. Per Bracket
\ - Ny 3/8" x 3" Ex. Catch
) : ’: 2 e (Tyo) Wedge Anchor Basin Floor
< .
2" x 2" x 3" 14GA 5mm
Perforated Base
Ex. Catch Basin Support Bracket
Floorx
3/8" x 3" N
Wedge Anchor 2" (Typ.) SECTION A-A
g N.T.S.
A S ADS FLEXSTORM
| CPS U EXT
————————————————————————————————————————— BASE SUPPORT BRACKET
DETAIL D (SH. 1) ___I DETAILS
NTS SIZE l DATE REV
A 71252016 A
4 ' 3 IE_HEET 3 OF 5




x 9

e
"
¢

7303
Wietaneletalatals
'I.O‘Q‘....""‘
iagegesesesetely
thideladelelels
Hititslededels
iasateteds
(5
1gats
25

3/16" Self Drilling Screw
(Typ.) Placed 8"C.C.
(Max)(Typ.)

\/\

Q00
R
2920 lalsli

3" Base Support Bracket/'\ i

\
\
Placed At Inflection Point S~
(Typ.), See Detail E Hereon .
o
12" Center Base Support Bracket T

(When S 2 3'-0"), ELEVATION VIEW
See Detail F Hereon N.T.S.

14GA 5mm Perforated
Screen 50% Open

2"x2"x 12" 14GA
5mm Perforated Base
Support Bracket

Basin
Floor

-

N.T.S.

3/8" x 3" El)é.o(rJatch Basin
14GA 5mm Perforated Wedge Anchor ————— — o TK
Screen 50% Open (Typ.)
Z
2" x 2" x 3" 14GA 5mm 1 Piece Extension Panel 14GA 5mm
Perforated Base Suppont Perforated Screen 50% Open
Bracket ¥/ ¥ -]
SECTION C-C
Ex. Catch
Basin Floor\ N.T.S.
- ADS FLEXSTORM
| CPS U EXT
______________________ EXTENSION PANEL DETAILS
DETAILE T oATE =
N.T.S. 712512016 A
¢ '_S_HEET 4 OF 5
4 | 3 7Y 2

1 Piece Extension
Panel 14GA 5mm
Perforated

Screen 50% Open

Ex. Catch

Extension Panel Scribed To
Conform To Catch Basin Floor

1 Piece Extension Panel
14GA 5mm Perforated
Screen 50% Open

3/16" Self Drilling Screw (Typ.)

2" x2"x 12" For Detail F
2" x 2" x 3" For Detail E
14GA 5mm Perforated
Base Support Bracket

3/16" Self Drilling Screw (Typ.)
4 Min. For 12" Bracket
2 Min. For 3" Bracket

112" x11/2" 13GA
Mounting Bracket (Typ.)

‘» See Detail A,

Sh. 1 (Typ.)

1 Piece Extension Panel
14GA 5mm Perforated
Screen 50% Open

LOS ANGELES COUNTY
DEPARTMENT OF PUBLIC WORKS

Kl ACCEPTED

0 MAKE CORRECTIONS NOTED
O REVISE CALCULATIONS

] REJECTED

REVIEW IS PERFORMED BY THE DEPARTMENT TO ENSURE
THE CONTRACTOR'S GENERAL CONFORMANCE WITH THE
DESIGN CONCEPT OF THE PROJECT AND GENERAL COM-
PLIANCE WITH THE SPECIFICATIONS. THE CONTRACTOR
IS SOLELY RESPONSIBLE FOR THE CORRECTNESS OF
DIMENSIONS, PROPER CONSTRUCTION AND INSTALLA-
TION METHODS, AND FOR FULFILLING ALL CONTRACTUAL
REQUIREMENTS. ACCEPTANCE INDICATED HEREON
DOES&IgTREUEVETOEWWW“THEEON

py__Steven Dickson pate 07-28-16

14GA 5mm Perforated
Screen 50% Open

Horizontal 1 1/4" x 1/2" x 1/2"
12GA U-Channe! Stiffener




4 | 3 4 2 I 1
Ex. Connector Pipe
T
| E .
i See Detail G Hereon
I |
| /-—\/
{ g <
e ) __/ BN
. o :-:;::: '2{:‘:3:». atatateteT el atn e \
3 ittt s b et \
/1 o" = L =
Ex. Catch (Typ.) = it = )
Basin Wall yp- e 3/8" x 3"
2 Rt Wedge Anchor
/ (Typ.)
14GA 5mm Perforated e -
Screen 50% Open
Ex. Catch
S + 2R Basin Wall
PLAN VIEW 10"
N.T.S. (Typ.)
1" Bend 90° 3" (Max)(Typ.)
Around Rear And 2 Sides
Of P erforate d S creen L A S PR R P A e PR e S e P B e P L [ R e e e e S R e e e e e

10" x

Deflector Support Bracket (Typ.)

3/8" x 3"
Wedge Anchor

(Typ.)

36" (Max)(Typ.)

LOS ANGELES COUNTY
DEPARTMENT OF PUBLIC WORKS

6" x 11/2" 14GA

E] ACCEPTED

0 MAKE CORRECTIONS NOTED
3 REVISE CALCULATIONS

] REJECTED

ELEVATION VIEW
N.T.S.

REVIEW IS PERFORMED BY THE DEPARTMENT TO ENSURE
THE CONTRACTOR'S GENERAL CONFORMANCE WITH THE
DESIGN CONCEPT OF THE PROJECT AND GENERAL COM-
PLIANCE WITH THE SPECIFICATIONS. THE CONTRACTOR
IS SOLELY RESPONSIBLE FOR THE CORRECTNESS OF
DIMENSIONS, PROPER CONSTRUCTION AND INSTALLA-
TION METHODS, AND FOR FULFILLING ALL CONTRACTUAL
REQUIREMENTS. ACCEPTANCE INDICATED HEREON
DOES"‘IgTRﬂ.EVETNEmmmW'IHESEW

gy__Steven Dickson

/See Detail H Hereon

um07-28~16
14GA 5mm Perforated
Screen 50% Open

10" x 6" x 1 1/2"
14GA Deflector Support

1/2" Dia. Hole Bracket (Typ.)

For Optional
| Side Wall Mount
| DETAIL H
. “Ex. Catch N.T.S.
Basin Wall

SECTION E-E
N.T.S.

DETAIL

N.T.S.

172" (Typ.)

G

14GA 5mm Perforated
Deflector Screen

Spot Weld (Typ.)

ADS FLEXSTORM
CPS U EXT

[TITLE

DEFLECTOR DETAIL

SIZE

DATE

7/25/2016

leerHor 5

























